12 HOABR<ADE> No.l DEE

1. ROFHEZ LRIV,
(D z=-4y=-20rE ROADHEE KD X
W,
— (z+3y) — 3(z + 2y)

%. 34

= .

(2) z=-3,y=10r %, ROADEZRDLZZ W,
—4(3z + 2y) — 3(bx — 5y)

%. 88

= .

(B) z=5y=—-4Dr %, ROADEZRDEI W,
323X zy + 4z

%. —375

4) z=-5y=20r %, ROADEZRDLEI W,
— (22 —2y) — 2(z — 1y)

. 28

=.

(B) x=2,y=—-4DE XORXDEZRDL IV,
23X zy + 3z

6) r=5y=—-4DE XORXDEZRDL IV,
33X zy + x

2. —1500

(7 2=-5y=40t %, XORDEZRDZ IV,
— 3(4x — 5y) + 2(5x + 5y)

. 110

) x=2,y=4DL &, ROXDEZKDIZI W,
—4a® X zy + (=5z)

3 128
)

9) z=4,y=—40Dr %, ROADEZRDLZI W,
— 42z — 4y) + 5(bz — 1y)

. 24

= .

(10) z=5,y=-3 D ZF, RORDHEZRDLI W,
—2(2z +4y) + 5(bz — 3y)

. 174



12 HOABR<ADE> No.2 DEE

1. ROFEZ LR SV,

(1) 2=5,y=30L &, ROXDEZRKDILI W,
—3(5z + 5y) — 3(z + 5y)

. —180

(2) 2=-4,y=20r %, ROADEERDE I,
— 423X xy + (—x)

. 512

(3) z=-5y=-20rE ROADHEERDIX
W,
— (4z 4+ 4y) — 3(2z — 4y)

%. 34

= .

4) z2=-5y=40r %, ROADEZRDLZZ W,
— 3(4x — 5y) + 2(bx + 5y)

%. 110

(B) z=-bHy=-40tE ROKXDHEZRDLE
W,
3(bz — 2y) + 4(bx — 1y)

%, —135

6) r=5y=-5DE ROKXDEZRDL IV,
5(x+y) — (3z + 5y)

%. 10

=.

(7 2=3,y=5Dr &, ROADEZRKDZ I\,
—3(xz — 5y) + 2(3z + 2y)

. 104

®) z=-3,y=10r %, ROADEZRDLEZ W,
—4(3z + 2y) — 3(bx — 5y)

%. 88

= .

(9) z=-5y=10r %, ROADEZRDLZI W,
— ¥ X gy + (—2)

%, —125

(10) z=-4,y=1Dt %, RORXDHEZRDLI W,
—2(2z — 4y) + 3(bz — 5y)



12 HOABR<ADE> No.3DEE

1. ROFEZ LR SV,

(D) z=-5y=20r %, ROADEZRDLRZ W,
—4(5z — 2y) — (z + 2y)

. 117

(2) 2=2,y=5DL &, ROXDHEZKDILI W,
— 323X xy + (—22)

%. 60

=.

(3) z=-4y=-20rE ROADHEERDIX

W,
23X zy =+ bx
w128
5
4 z=-3y=-10E, ROXDHEE KD X
W,
2(4x — 5y) + 2(5z + 1y)
. —46

B) x=4y=10t %, ROKXDEZRDRE W,
5(2x — 5y) + 5(4x — 5y)

6) 1=-5y=20t %, XOKXDEZRDL IV,
—2(2x —y) + 4(5x + 4y)

&, —44

(7 z=-5y=-20rE ROADHEERDIX
W
323X zy + bz

%. 150

) 2=-5y=3Dr %, ROADEERDEI W,
— 323X xy + (—4x)

w1125
’ 4
(9) z=-5y=—-4DrE, ROADHEERDIX
W,
2(bx — by) — 5(4x — 1y)
. 70

(10) 2= -5,y= 20D E, RORDEERDI X
(VAT
3(3z — 4y) +4(2x — 1y)



12 HOABR<ADIE> No.4 DEE

1. ROFEZ LR SV,

(D) z2=-5y=40r %, ROADEZRDLZI W,
— 3(4z — 5y) + 2(bz + 5y)

%. 110

(2) z=-2,y=40 %, ROADEZKRDLZI W,
— 54z — 3y) + (z — 3y)

%. 86

= .

B) z=4y=50r %, ROAXDEZKDZ I\,
5x3X xy +

. 1600

1) z=—-4,y=4Dt %, ROXDEZRDZE W,
523X xy + 4z

%. —320

(5) z=-3,y=20r %, ROADEZRDLZI W,
(3z + 3y) + 2(2z + 1y)

6) r=5y=-3DE, XOKXDEZRDL IV,
— 223X zy + 3z

. 250

(7 2=5,y=5Dr &, ROADEZRKDZ I\,

203X xy +

. 1250

8) z=—-4y=-20rE ROADHEERDIX

W,
23X zy =+ bx
e 1?8
(9) z=-5y=—-4DtE, ROKXDEZEKDLE
W,
3(2z — 4y) — 2(4x + 4y)
%. 90

(10) z=2,y=50Dr %, XOXDEZRDLI W,
X zy + (—x)



12 ADOHAE<ADE> No.5 DEEE
1. ROFEELEE,

(D) z2=-4,y=40r %, ROADEZRDLZI W,
523X xy + 4z

%, =320

(2) z=-5,y=20r %, ROADEZRKDLZI W,
—4(br — 2y) — (v + 2y)

&7

B) z=-4,y=20r %, ROADEZRDLZI W,
—2(2z + 3y) + 3(3z — 5y)

%, —62

=.

4) r=-5y=10 %, XOKXDEZRDL IV,
— X a2y + (—x)

. —125

(B) x=4,y=20L &, ROKXDEZKDILI W,
5(z + 5y) — 5(4x — 5y)

6) 1=-5y=5D& =, XOKXDEZRDZI W,
22z —y) + 3(3x — 3y)

%, =120

(7 2=-5y=40 %, XORDEZRDZI W,
— 3(4x — 5y) + 2(5x + 5y)

. 110

) z=-5y=20r %, ROADEZRDLEI W,
—2(z + 3y) — 4(x — 5y)

%. 58

= .

(9) 2=-4,y=5Dr %, ROADEZRDLZI W,
23X xy + (—5x)

%. 64

= .

(10) z=4,y=—-4DZ, RORXDHEZRDLI W,
—3(4zx — 3y) + (2x + 3y)



